Question 1 Flow Chart   


                                      ↓







  ↓










        ↓
                         yes↓

↓no


                         yes

↓no

  








↓
Calculations:

Largest decimal # able to be stored in 16 bits (2 registers) = FFFF(16) = 65535(10)
n
∑ (n) , n=361 = 169(16)           ∑ = 65,341 = FF3D(16) 
k=1    
Initialize:


-Reserve 2 bytes each for Count , Sum, Result in program memory space


-set Sum and Count to 0





Add Count to Sum and store in Sum register 





Increment Count with 16-bit counting algorithm





Is Count equal to 361 decimal? (Will sum fit into 2 registers?)





Clear LOW byte and increment HIGH byte





Increment LOW byte





Is LOW byte of Count equal to FF? 





Add last term and move Sum to Result registers





END








